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Question Paper Specific Instructions

Please read each of the following instructions carefully before attempting questions :
There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and in
ENGLISH.

Candidate has to attempt FIVE questions in all.

Questions no. 1 and 5 are compulsory and out of the remaining, any THREE are to be attempted
choosing at least ONE question from each section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be
stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No
marks will be given for answers written in a medium other than the authorized one.

Word limit in questions, wherever specified, should be adhered to.

Graphs/illustrations, wherever required, may be drawn/given in the space provided for answering
the question itself.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a question
shall be counted even if attempted partly. Any page or portion of the page left blank in the
Question-cum-Answer (QCA) Booklet must be clearly struck off.

SLPM-P-ECO b 4




wwEA
SECTION A
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Answer the following questions in about 150 words each :

(a)

(b)

(o)

(d)

(e)

Q2. (a)

TRTTSY foF Sfa i 3TN T G971 4 a1l €, qF ARIfora gfoehior #, feredl o
61 T 61 AT § IS GRE e & |

Show that when prices and income increase in the same proportion,
there will be no change in quantity demanded for a commodity in
Marshallian approach.

IS 95k hT @i sl IT=AT I | IS 5k SHT=Id: FUTTcH: @A™ ATeAT 91 BraT & ?

Interpret the slope of the IS curve. Why is IS curve normally negatively
sloped ?

S fETe =1 2 2 %1 4 a1 i qeeudl & GHH & 2 HETST |

What is classical dichotomy ? Is it the same as neutrality of money ?
Explain.

SITSTR 3 foroheTell < S <hROT %1 € ? 36 Haw H STkl <Al vifireht shi samea ifse |

What are the major reasons for market failure ? Explain the role of the
government in this context.
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What are the determinants of velocity of money in Fisher’s equation ?
How does it differ from the Cambridge version of velocity of money ?

TR TR TTCRATI T T ST Ad §C -] era (ShHaeh) | T 1 o]
fore Ameiforam wiT ash ea— IS | 7T T [T <oF BT ROMCHE S ATl el
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Derive Marshallian demand curve for an inferior good in a
two-commodity framework by using income and substitution effects. Is

10x5=50

10

10

10

10

10

this demand curve always negatively sloped ? Explain. 15+5=20
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Q3.

(b)

(c)

(a)

(b)
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Consider a firm in a Duopoly market with product differentiation in
which, Duopolist I faces a demand function given by :

p; =200 -4q, —2q,
The cost function of Duopolist I is :

Cy = 5q?
Assume that Duopolist II has %rd share of the whole market.

Find out optimal price, output and profit for Duopolist I. Also find out
the output of Duopolist II. 15
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What is Scitovsky Paradox ? Explain it in the context of Kaldor-Hicks
compensation test. 5+10=15
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Define liquidity trap. Show that fiscal policy is fully effective in the
horizontal part while the monetary policy is fully effective in the vertical
part of the LM curve. Illustrate your answer graphically with economic
reasons. 5+15=20
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How does the loanable fund theory become superior to the classical
theory of interest ? 15
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“The failure of classical full employment equilibrium paved the way for
Keynes’ theory of underemployment equilibrium.” Discuss critically. 15

Q4. (a) (1

(i1)

@)

(i)

b)) @)

(i1)

(1)
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Explain the effects of public spending on national income, if it is
financed through government borrowings.

Why do some believe that it is important to restrict the growth of
public expenditure ? Suggest how public expenditure might be
controlled. 10+(5+5)=20

AT A fo ST <l | 37 31mgfd %o 30 wehR fer e € -
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Suppose that the market demand and supply functions are given
by :
Q4 = — 500P + 5000
and Qg = 400P — 400
Find out the effects of imposition of specific sales tax of 18% on

equilibrium price and quantity.

4



(i1) In a monopoly market, the demand and cost curves are given by :
p =200 - 8q
and ¢ = 25 + 10q

Suppose that the government imposes a tax of ¥ 10 per unit. How

will equilibrium price and quantity be affected ? 8+7=15

()  TET U i aRwTiea hiferg Ta gaeh feitei <t foar=mm ifSg | 32T Tork o e &
TSy fop tefegaeer ot sifeT s qaT AATgfd I 4 Rt F a2 |

Define money multiplier and discuss its determinants. Explain in terms
of money multiplier, how the banking system of an economy can control
money supply. 15
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SECTION B
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Answer the following questions in about 150 words each : 10x5=50

(a)

(b)

(c)

(d)

(e)

Q6. (a)

(b)

(c)

TS sk ol TR HifSTe 37 saehi ot ol gaeisT |

Define offer curve and explain its slope. 10
J-3T5h TTE T © 2 39 Tor g omese |
What is J-curve effect ? Explain it graphically. 10

TR-EfeH frgia samsu | 39 e § fora=ie forramme i samear Shifsio |

State Heckscher-Ohlin theory. Explain the Leontief Paradox in this
context. 10

S % Hafg Hied H =reh-ar T 3 ffgaret # faflaw

Write down the implications of knife-edge problem in Harrod’s model of

growth. 10
7.0 311, R0 fererféra war 2t 3. <t s et i fofiag |
Write down the major limitations of HDI developed by the UNDP. 10

Hif3rer e B # HHT-3[eeh (RW) % o7 T, T JHTE, ST 9977,
TS Y19 T foraaor yme it et i |
Explain the price effect, protective effect, consumption effect, revenue

effect and distributive effect of tariff in partial equilibrium framework. 20

Wwﬁmmﬁmﬁﬁmﬁﬁqlwa@@g
Sciieh) H ST T o HaW § 3! Hfh i me FIfy |

Define the concepts of trade creation and trade diversion. Explain their

role in the context of gains from trade bloc. 5+10=15
T TG <t @ fop e fafmrr ot % srwfa oof dsft wferefierar, Tt afic
Hitfscer ferdt <t srvTarRiTeraT § Gow T & 2 THEsy |

Do you think that perfect capital mobility under fixed exchange rate
improves the effectiveness of fiscal and monetary policies ? Explain. 15
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Q7. (a)

(b)

(9]

Q8. (a)

(b)

(c)

whaq%ﬁw%ﬁ%ﬁamﬁmwwiﬁaﬂimwﬁw
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Analyse critically the role of human capital and Research and
Development (R&D) expenditure on economic growth in the framework

of endogenous growth model. 20
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“Increasing role of multinationals has reduced the significance of foreign
aid during post-World Trade Organization (WTO) regime.” Do you agree
with this statement ? Explain. 15

%ﬁg%fmﬁmﬁmq@ﬁmﬁmﬁmlmgﬁqﬁ
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Define the concept of natural growth in Harrod’s model. What are the
implications of deviation of actual growth from natural growth ? 5+10=15

aﬁmqmwﬁﬁwwﬁm(wonﬁﬂﬁwﬁwaﬁﬁm@w
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Explain the role of World Trade Organization (WTO) in the present
context. Discuss the merits and demerits of TRIMs and TRIPs. 10+10=20

T 319 A & o ¥ATfieh e Cof weifirr forrer Uh-qat 3 frodir ¥ 2 arod sy
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Do you think that economic growth and sustainable development are
contrary to each other ? Justify your answer. 15

mm%mm%mﬁﬁmmﬁmﬁwﬁwﬁm
IS |

Explain the role of planning in the development process in the context of
increasing significance of market economy. 15
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